
 

Varsity Game 1 (V1), 9:00: Clements vs. The Woodlands 

• Winner plays at 10:30. 

• Loser is eliminated. 
Varsity Game 2 (V2), 9:30: British Int’l vs. Cinco Ranch 

• Winner plays at 11:30. 

• Loser is eliminated. 
Varsity Game 3 (V3), 10:00: Klein Oak vs. Grand Oaks 

• Winner plays at 12:00. 

• Loser is eliminated. 
Varsity Game 4 (V4), 10:30: Bellaire vs. Winner V1 

• Winner plays at 1:00. 

• Loser is eliminated. 
Varsity Game 5 (V5), 11:00: Tomball Memorial vs. Kingwood 

• Winner plays at 1:00. 

• Loser is eliminated. 
Varsity Game 6 (V6), 11:30: Taylor vs. Winner V2 

• Winner plays at 1:30. 

• Loser is eliminated. 
Varsity Game 7 (V7), 12:00: Jordan vs. Winner V3 

• Winner plays at 1:30. 

• Loser is eliminated. 
Varsity Game 8 (V8), 1:00: Winner V4 vs. Winner V5 

• Winner plays at 2:00. 

• Loser is eliminated (3rd or 4th place). 
Varsity Game 9 (V9), 1:30: Winner V6 vs. Winner V7 

• Winner plays at 2:00. 

• Loser is eliminated (3rd or 4th place). 
Varsity Game 10 (V10), 2:00: Winner V8 vs. Winner V9 

• Winner is 1st place; loser is 2nd place. 
 

1st (Winner V10): ________________________ 
 

2nd (Loser V10): ________________________ 
 

For 3rd and 4th, between the losers of V8 and V9, the team with the 
higher average score in all their games played (which could be 2 or 3 
games) is 3rd, and the other team is 4th. See box to the left if tied. 
 

3rd: ________________________ 
 

4th: ________________________ 
 

Remaining to be ranked are 7 teams with records of either 1-1 or 0-1. 
Assign all the 1-1 teams, if there are any, to 5th, 6th etc. based on 
their total points scored in the 2 games they played. Then assign the 
0-1 teams to the final places based on their score in the game they 
played. Break ties by coin flip (or brainstorm another method).

 

5th: ___________________    6th: ___________________    7th: ___________________    8th: ___________________    9th: __________________    10th: ___________________ 


